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Results

Descriptives 

The mean heights for males and females were 72.40 and 66.80 inches.  The standard deviations were 2.07 and 3.27 inches.  The data for both males and females were approximately normally distributed with skewness values of .24 and -.85.

T-test for Independent Means


The results of the t-test revealed that there were significant differences between the mean heights for males (M = 72.40) and females (M = 66.80) in the Psychology labs; t (8) = 3.23, p = .01.  The males were significantly taller than the females.  Eta squared was .57, implying that one can account for 57% of the variance for a student's height if gender is known. 
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Table 1

Descriptive Statistics for Height by Gender

	Gender
	Mean
	SD
	Skewness

	Males
	72.40
	2.07
	.24

	Females
	66.80
	3.27
	-.85
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Figure Caption

Figure 1.  Box-plots for height by gender.
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An example of an inferential section for the results of a t-test with unequal sample sizes and unequal variances…

T-test for Independent Means


The sample sizes for the two groups were unequal, therefore Levene's test for homogeneity of variances was examined.  Levene's test was significant, consequently the t-test for unequal variances assumed was interpreted.  The results of this t-test revealed that there were significant differences between the mean income levels for males (M = 14.14 or ~$22500-24999) and females (M = 11.55 or ~$15000-17499); t (991.50) = 7.49, p < .01.  The males had significantly higher incomes than the females.  Eta squared was.05, implying that one can account for 5% of the variance for a participant's income if gender is known.  
